

# Some Results for Fractional Derivative Associated with Fuzzy Differential Subordinations

Abbas Kareem Wanas <sup>a</sup> , Serap Bulut <sup>b</sup>

<sup>a</sup> Department of Mathematics, College of Science, University of Al-Qadisiyah, Iraq. Email: [abbas.kareem.w@qu.edu.iq](mailto:abbas.kareem.w@qu.edu.iq)

<sup>b</sup> Faculty of Aviation and Space Sciences, Kocaeli University, Kocaeli, Turkey. Email: [serap.bulut@kocaeli.edu.tr](mailto:serap.bulut@kocaeli.edu.tr)

## ARTICLE INFO

### Article history:

Received: 05 /01/2020

Revised form: 00 /00/0000

Accepted : 06 /02/2020

Available online: 15 /11/2020

**Keywords:** Fuzzy differential subordination, Fuzzy best dominant, Fractional derivative, Differential operator.

Big data, IT companies, Energy Management, Confusion.

## ABSTRACT

In the present article, by making use of fuzzy differential subordination, we establish some interesting results of fractional derivative related to differential operator defined in the open unit disk.

MSC : 30C45,30A20.

DOI : <https://doi.org/10.29304/jqcm.2020.12.3.708>

## 1 . Introduction

Let the notation  $\mathcal{H}(\mathfrak{U})$  stands for the family of holomorphic functions in the unit disk  $\mathfrak{U} = \{z \in \mathbb{C} : |z| < 1\}$ . For  $n \in \mathbb{N}$  and  $a \in \mathbb{C}$ , we indicate by

$$\mathcal{H}[a, n] = \{f \in \mathcal{H}(\mathfrak{U}) : f(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots, z \in \mathfrak{U}\}$$

and

$$\mathcal{A}_n = \{f \in \mathcal{H}(\mathfrak{U}) : f(z) = z + a_{n+1} z^{n+1} + a_{n+2} z^{n+2} + \dots, z \in \mathfrak{U}\},$$

with  $\mathcal{A}_1 = \mathcal{A}$ .

Corresponding author: Abbas Kareem Wanas

Email addresses: [abbas.kareem.w@qu.edu.iq](mailto:abbas.kareem.w@qu.edu.iq)

Communicated by : **Alaa Hussein Hamadi**

**Definition 1.1 [11].** "Let  $X$  be a non-empty set. An application  $F : X \rightarrow [0,1]$  is called fuzzy subset. An alternate definition, more precise, would be the following:

$$\text{A pair } (S, F_S), \text{ where } F_S : X \rightarrow [0,1] \text{ and } \text{supp}(S, F_S) = \{x \in X : 0 < F_S(x) \leq 1\}$$

is called fuzzy subset. The function  $F_S$  is called membership function of the fuzzy subset  $(S, F_S)$ ."

**Definition 1.2 [3].** Let two fuzzy subsets of  $X$ ,  $(M, F_M)$  and  $(N, F_N)$ . "We say that the fuzzy subsets  $M$  and  $N$  are equal if and only if  $F_M(x) = F_N(x), x \in X$  and we denote this by  $(M, F_M) = (N, F_N)$ . The fuzzy subset  $(M, F_M)$  is contained in the fuzzy subset  $(N, F_N)$  if and only if  $F_M(x) \leq F_N(x), x \in X$  and we denote the inclusion relation by  $(M, F_M) \subseteq (N, F_N)$ ".

Assume that  $D$  be a set in  $\mathbb{C}$  and  $f, g$  holomorphic functions. We indicate by

$$f(D) = \text{supp}(f(D), F_{f(D)}) = \{f(z) : 0 < F_{f(D)}(f(z)) \leq 1, z \in D\}$$

and

$$g(D) = \text{supp}(g(D), F_{g(D)}) = \{g(z) : 0 < F_{g(D)}(g(z)) \leq 1, z \in D\}.$$

**Definition 1.3 [3].** Suppose that  $D$  be a set in  $\mathbb{C}$ ,  $z_0 \in D$  be a fixed point and let the functions  $f, g \in \mathcal{H}(D)$ . The function  $f$  is named a fuzzy subordinate to  $g$  and write  $f <_F g$  or  $f(z) <_F g(z)$  if satisfies the following:

- 1)  $f(z_0) = g(z_0),$
- 2)  $F_{f(D)}(f(z)) \leq F_{g(D)}(g(z)), z \in D.$

**Definition 1.4 [4].** Let  $h$  be univalent in  $\mathfrak{A}$  and  $\psi : \mathbb{C}^3 \times \mathfrak{A} \rightarrow \mathbb{C}$ . If  $\mathcal{P}$  is holomorphic in  $\mathfrak{A}$  satisfies the fuzzy differential subordination:

$$F_{\psi(\mathbb{C}^3 \times \mathfrak{A})}(\psi(\mathcal{P}(z), z\mathcal{P}'(z), z^2\mathcal{P}''(z); z)) \leq F_{h(\mathfrak{A})}(h(z)), \tag{1.1}$$

i.e.

$$\psi(\mathcal{P}(z), z\mathcal{P}'(z), z^2\mathcal{P}''(z); z) <_F h(z), z \in \mathfrak{A},$$

"then  $\mathcal{P}$  is called a fuzzy solution of the fuzzy differential subordination. The univalent function  $q$  is called a fuzzy dominant of the fuzzy solutions of the fuzzy differential subordination, or more simple a fuzzy dominant, if  $\mathcal{P}(z) <_F q(z), z \in \mathfrak{A}$  for all  $\mathcal{P}$  satisfying (1.1). A fuzzy dominant  $\tilde{q}$  that satisfies  $\tilde{q}(z) <_F q(z), z \in \mathfrak{A}$  for all fuzzy dominant  $q$  of (1.1) is said to be the fuzzy best dominant of (1.1)".

For  $f_i \in \mathcal{A}$  ( $i = 1,2$ ) defined by

$$f_i(z) = z + \sum_{n=2}^{\infty} a_{n,i} z^n \quad (i = 1,2),$$

the convolution product of  $f_1$  and  $f_2$  is defined by

$$(f_1 * f_2)(z) = z + \sum_{n=2}^{\infty} a_{n,1} a_{n,2} z^n = (f_2 * f_1)(z)$$

**Definition 1.5 [6].** The operator  $I_{\alpha,\beta,\ell,d}^{n,m}$  is defined by  $I_{\alpha,\beta,\ell,d}^{n,m} : \mathcal{A} \rightarrow \mathcal{A}$

$$I_{\alpha,\beta,\ell,d}^{n,m} f(z) = \mathcal{M}_{\alpha,\beta,\ell,d}^m(z) * R^n f(z), \quad z \in \mathfrak{A},$$

where

$$\mathcal{M}_{\alpha,\beta,\ell,d}^m(z) = z + \sum_{n=2}^{\infty} \left[ \frac{\ell(1 + (\alpha + \beta)(n - 1)) + d}{\ell(1 + \beta(n - 1)) + d} \right]^m z^n,$$

and  $R^k f(z)$  indicates the Ruscheweyh derivative operator [6] given by

$$R^k f(z) = z + \sum_{n=2}^{\infty} C(k, n) a_n z^n,$$

where  $C(k, n) = \binom{n+k-1}{k}$ ,  $k, m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ ,  $\beta \geq \alpha > 0, \ell > 0$  and  $\ell + d > 0$ .

Simple computations show that

$$I_{\alpha, \beta, \ell, d}^{k, m} f(z) = z + \sum_{n=2}^{\infty} \left[ \frac{\ell(1 + (\alpha + \beta)(n - 1)) + d}{\ell(1 + \beta(n - 1)) + d} \right]^m \binom{n+k-1}{k} a_n z^n.$$

**Definition 1.6 [8].** Let  $0 \leq \lambda < 1$ , the fractional derivative of order  $\lambda$  of a function  $f$  is defined by

$$D_z^\lambda f(z) = \frac{1}{\Gamma(1 - \lambda)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z - t)^\lambda} dt,$$

"where the function  $f$  is holomorphic in a simply-connected region of the  $z$ -plane containing the origin and the multiplicity of  $(z - t)^{-\lambda}$  is removed by requiring  $\log(z - t)$  to be real, when  $\text{Re}(z - t) > 0$ ".

Now, in the light of Definition 1.5 and Definition 1.6, we conclude that

$$D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) = \frac{1}{\Gamma(2 - \lambda)} z^{1-\lambda} + \sum_{n=2}^{\infty} \frac{n\Gamma(k + n)}{\Gamma(n - \lambda + 1)\Gamma(k + 1)} \left[ \frac{\ell(1 + (\alpha + \beta)(n - 1)) + d}{\ell(1 + \beta(n - 1)) + d} \right]^m a_n z^{n-\lambda}. \tag{1.2}$$

By making use of (1.2), it is evident that

$$z \left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right)' = \frac{\ell(1 + \beta(n - 1)) + d}{\ell\alpha} D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m+1} f(z) - \frac{\ell(1 + \beta(n - 1) - (1 - \lambda)\alpha) + d}{\ell\alpha} D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z). \tag{1.3}$$

We will need the following lemmas in investigating "our main results".

**Lemma 1.1 [5].** Suppose that the convex function  $h$  satisfies  $h(0) = a$ , let  $\mu \in \mathbb{C}^* = \mathbb{C} \setminus \{0\}$  such that  $\text{Re}(\mu) \geq 0$ . If  $\mathcal{P} \in \mathcal{H}[a, n]$  with  $\mathcal{P}(0) = a$  and  $\psi: \mathbb{C}^2 \times \mathfrak{A} \rightarrow \mathbb{C}$ ,  $\psi(\mathcal{P}(z), z\mathcal{P}'(z)) = \mathcal{P}(z) + \frac{1}{\mu} z\mathcal{P}'(z)$  is holomorphic in  $\mathfrak{A}$ , then

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})} \left[ \mathcal{P}(z) + \frac{1}{\mu} z\mathcal{P}'(z) \right] \leq F_{h(\mathfrak{A})} h(z),$$

implies

$$F_{\mathcal{P}(\mathfrak{A})} \mathcal{P}(z) \leq F_{q(\mathfrak{A})} q(z) \leq F_{h(\mathfrak{A})} h(z), \quad z \in \mathfrak{A},$$

i.e.

$$\mathcal{P}(z) \prec_F q(z) \prec_F h(z),$$

where

$$q(z) = \frac{\mu}{nz^{\frac{\mu}{n}}} \int_0^z h(t) t^{\frac{\mu}{n}-1} dt$$

is convex and is the fuzzy best dominant.

**Lemma 1.2 [5].** Suppose that  $q$  be a convex function in  $\mathfrak{A}$ , let  $h(z) = q(z) + nvzq'(z)$ ,  $v > 0$  and  $n \in \mathbb{N}$ . If  $\mathcal{P} \in \mathcal{H}[q(0), n]$  and  $\psi: \mathbb{C}^2 \times \mathfrak{A} \rightarrow \mathbb{C}$ ,  $\psi(\mathcal{P}(z), z\mathcal{P}'(z)) = \mathcal{P}(z) + vz\mathcal{P}'(z)$  is holomorphic in  $\mathfrak{A}$ , then

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{U})}[\mathcal{P}(z) + \nu z \mathcal{P}'(z)] \leq F_{h(\mathfrak{U})}h(z),$$

implies

$$F_{\mathcal{P}(\mathfrak{U})}\mathcal{P}(z) \leq F_{q(\mathfrak{U})}q(z), \quad z \in \mathfrak{U},$$

i.e.

$$\mathcal{P}(z) <_F q(z)$$

and  $q$  is the fuzzy best dominant.

"Recently, Oros and Oros [4,5], Magesh [2], Haydar [1] and Wanas and Majeed [9,10] have obtained fuzzy differential subordination results for certain classes of holomorphic functions".

### 2. Main Results

**Theorem 2.1.** Suppose that convex function  $h$  satisfies  $h(0) = 1$ . Let  $f \in \mathcal{A}$  and  $G(\gamma, k, \alpha, \beta, \lambda; z)$  is holomorphic in  $\mathfrak{U}$ , where

$$G(\lambda, k, m, n, \alpha, \beta, \ell, d; z) = \frac{(\lambda + 1)\Gamma(1 - \lambda)}{\ell \alpha z^{1-\lambda}} \left( [\ell(1 + \beta(n - 1)) + d] D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m+1} f(z) \right. \\ \left. - [\ell(1 + \beta(n - 1) - (1 - \lambda)\alpha) + d] D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right) + \frac{\Gamma(1 - \lambda)}{z^{-1-\lambda}} \left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right)''. \tag{2.1}$$

If

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{U})}[G(\lambda, k, m, n, \alpha, \beta, \ell, d; z)] \leq F_{h(\mathfrak{U})}h(z), \tag{2.2}$$

then

$$F_{\left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f \right)'(\mathfrak{U})} \left( \frac{\Gamma(1 - \lambda) \left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right)'}{z^{-\lambda}} \right) \leq F_{q(\mathfrak{U})}q(z) \leq F_{h(\mathfrak{U})}h(z),$$

i.e.

$$\frac{\Gamma(1 - \lambda) \left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right)'}{z^{-\lambda}} <_F q(z) <_F h(z),$$

where  $q(z) = \frac{1}{z} \int_0^z h(t) dt$  is convex and is the fuzzy best dominant.

**Proof.** Assume that

$$\mathcal{P}(z) = \frac{\Gamma(1 - \lambda) \left( D_z^\lambda I_{\alpha, \beta, \ell, d}^{k, m} f(z) \right)'}{z^{-\lambda}}. \tag{2.3}$$

Then  $\mathcal{P} \in \mathcal{H}[1,1]$  and  $\mathcal{P}(0) = 1$ . Therefore, in view of (1.3) and (2.3), we have

$$\mathcal{P}(z) + z \mathcal{P}'(z) = 1 + \sum_{n=2}^{\infty} \frac{n^2(n - \lambda)\Gamma(1 - \lambda)\Gamma(k + n)}{\Gamma(n - \lambda + 1)\Gamma(k + 1)} \left[ \frac{\ell(1 + (\alpha + \beta)(n - 1)) + d}{\ell(1 + \beta(n - 1)) + d} \right]^m a_n z^{n-1} \\ = \frac{(\lambda + 1)\Gamma(1 - \lambda)[\ell(1 + \beta(n - 1)) + d]}{\ell \alpha z^{1-\lambda}} \times$$

$$\begin{aligned}
 & \times \left[ \frac{1}{\Gamma(2-\lambda)} z^{1-\lambda} + \sum_{n=2}^{\infty} \frac{n\Gamma(k+n)}{\Gamma(n-\lambda+1)\Gamma(k+1)} \left[ \frac{\ell(1+(\alpha+\beta)(n-1))+d}{\ell(1+\beta(n-1))+d} \right]^{m+1} a_n z^{n-\lambda} \right] \\
 & - \frac{(\lambda+1)[\ell(1+\beta(n-1)-(1-\lambda)\alpha)+d] + \ell\alpha\lambda(1-\lambda)}{\ell\alpha(1-\lambda)} \\
 & - \sum_{n=2}^{\infty} \frac{n(\lambda+1)\Gamma(1-\lambda)\Gamma(k+n)[\ell(1+\beta(n-1)-(1-\lambda)\alpha)+d]}{\ell\alpha\Gamma(n-\lambda+1)\Gamma(k+1)} \left[ \frac{\ell(1+(\alpha+\beta)(n-1))+d}{\ell(1+\beta(n-1))+d} \right]^m a_n z^{n-1} \\
 & + \sum_{n=2}^{\infty} \frac{n(n-\lambda)(n-\lambda-1)\Gamma(1-\lambda)\Gamma(k+n)}{\Gamma(n-\lambda+1)\Gamma(k+1)} \left[ \frac{\ell(1+(\alpha+\beta)(n-1))+d}{\ell(1+\beta(n-1))+d} \right]^m a_n z^{n-1} = G(\lambda, k, m, n, \alpha, \beta, \ell, d; z), \quad (2.4)
 \end{aligned}$$

where  $G(\lambda, k, m, n, \alpha, \beta, \ell, d; z)$  is defined as (2.1).

According to (2.2) and (2.4), we deduce that

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})}[\mathcal{P}(z) + z\mathcal{P}'(z)] \leq F_{h(\mathfrak{A})}h(z).$$

Thus applying Lemma 1.1 with  $\mu = 1$ , we obtain

$$F_{\mathcal{P}(\mathfrak{A})}\mathcal{P}(z) \leq F_{q(\mathfrak{A})}q(z) \leq F_{h(\mathfrak{A})}h(z).$$

From (2.3), we find that

$$F_{(D_z^{\lambda, k, m} I_{\alpha, \beta, \ell, d} f)'(\mathfrak{A})} \left( \frac{\Gamma(1-\lambda) \left( D_z^{\lambda, k, m} I_{\alpha, \beta, \ell, d} f(z) \right)'}{z^{-\lambda}} \right) \leq F_{q(\mathfrak{A})}q(z) \leq F_{h(\mathfrak{A})}h(z),$$

i.e.

$$\frac{\Gamma(1-\lambda) \left( D_z^{\lambda, k, m} I_{\alpha, \beta, \ell, d} f(z) \right)'}{z^{-\lambda}} \prec_F q(z) \prec_F h(z),$$

where  $q(z) = \frac{1}{z} \int_0^z h(t) dt$  is convex and is "the fuzzy best dominant".

"Putting  $m = k = 0$  and  $h(z) = \frac{1+(2\rho-1)z}{1+z}$  ( $0 \leq \rho < 1$ ) in Theorem 2.1, we obtain the following corollary":

**Corollary 2.1.** Let  $f \in \mathcal{A}$  and

$$\frac{(\lambda+1)\Gamma(1-\lambda)}{\ell\alpha z^{1-\lambda}} (D_z^{\lambda} z f'(z) + \lambda D_z^{\lambda} f(z)) + \frac{\Gamma(1-\lambda)}{z^{-1-\lambda}} (D_z^{\lambda} f(z))''$$

is holomorphic in  $\mathfrak{A}$ . If

$$\frac{(\lambda+1)\Gamma(1-\lambda)}{\ell\alpha z^{1-\lambda}} (D_z^{\lambda} z f'(z) + \lambda D_z^{\lambda} f(z)) + \frac{\Gamma(1-\lambda)}{z^{-1-\lambda}} (D_z^{\lambda} f(z))'' \prec_F \frac{1+(2\rho-1)z}{1+z},$$

then

$$\frac{\Gamma(1-\lambda)(D_z^{\lambda} f(z))'}{z^{-\lambda}} \prec_F q(z) \prec_F \frac{1+(2\rho-1)z}{1+z},$$

where  $q(z) = 2\rho - 1 + \frac{2(1-\rho)}{z} \ln(1+z)$  is convex and is the "fuzzy best dominant".

**Theorem 2.2.** Suppose that the convex function  $h$  satisfies  $h(0) = 1$ . Let  $f \in \mathcal{A}$  and  $\frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}}$  is holomorphic in  $\mathfrak{U}$ . If

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{U})} \left[ \frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}} \right] \leq F_{h(\mathfrak{U})} h(z), \tag{2.5}$$

then

$$F_{(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f)(\mathfrak{U})} \left( \frac{\Gamma(2-\lambda)D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}{z^{1-\lambda}} \right) \leq F_{q(\mathfrak{U})} q(z) \leq F_{h(\mathfrak{U})} h(z),$$

i.e.

$$\frac{\Gamma(2-\lambda)D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}{z^{1-\lambda}} \prec_F q(z) \prec_F h(z),$$

where  $q(z) = \frac{1}{z} \int_0^z h(t) dt$  is convex and is "the fuzzy best dominant".

**Proof.** Assume that

$$\mathcal{P}(z) = \frac{\Gamma(2-\lambda)D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}{z^{1-\lambda}}. \tag{2.6}$$

It is clear that  $\mathcal{P} \in \mathcal{H}[1,1]$  and  $\mathcal{P}(0) = 1$ .

We find

$$\mathcal{P}(z) + \frac{1}{1-\lambda} z\mathcal{P}'(z) = \frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}}. \tag{2.7}$$

In view of (2.7), the fuzzy differential subordination (2.5) becomes

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{U})} \left[ \mathcal{P}(z) + \frac{1}{1-\lambda} z\mathcal{P}'(z) \right] \leq F_{h(\mathfrak{U})} h(z).$$

Thus applying Lemma 1.1 with  $\mu = 1 - \lambda$ , we obtain

$$F_{\mathcal{P}(\mathfrak{U})} \mathcal{P}(z) \leq F_{q(\mathfrak{U})} q(z) \leq F_{h(\mathfrak{U})} h(z).$$

From (2.6), we get

$$F_{(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f)(\mathfrak{U})} \left( \frac{\Gamma(2-\lambda)D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}{z^{1-\lambda}} \right) \leq F_{q(\mathfrak{U})} q(z) \leq F_{h(\mathfrak{U})} h(z),$$

i.e.

$$\frac{\Gamma(2-\lambda)D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}{z^{1-\lambda}} \prec_F q(z) \prec_F h(z),$$

where  $q(z) = \frac{1}{z} \int_0^z h(t) dt$  is convex and is "the fuzzy best dominant".

Putting  $m = k = 0$  and  $h(z) = e^{bz}$ ,  $|b| \leq 1$  in Theorem 2.2, we obtain the following corollary :

**Corollary 2.2.** If  $f \in \mathcal{A}$ ,  $\frac{\Gamma(1-\lambda)(D_z^\lambda f(z))'}{z^{-\lambda}}$  is holomorphic in  $\mathfrak{U}$  and

$$\frac{\Gamma(1-\lambda)(D_z^\lambda f(z))'}{z^{-\lambda}} \prec_F e^{bz},$$

then

$$\frac{\Gamma(2-\lambda)D_z^\lambda f(z)}{z^{1-\lambda}} \prec_F q(z) \prec_F e^{bz},$$

where  $q(z) = \frac{e^{bz}-1}{bz}$  is convex and is "the fuzzy best dominant".

**Theorem 2.3.** Suppose that  $q$  be a convex function in  $\mathfrak{A}$  such that  $q(0) = 1, h(z) = q(z) + \frac{\ell\alpha}{\ell(1+\beta(n-1))+d} zq'(z)$ . Let

$f \in \mathcal{A}$  and  $\frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z))'}{z^{-\lambda}}$  is holomorphic in  $\mathfrak{A}$ . If

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})} \left[ \frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z))'}{z^{-\lambda}} \right] \leq F_{h(\mathfrak{A})} h(z), \tag{2.8}$$

then

$$F_{(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f)'(\mathfrak{A})} \left( \frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}} \right) \leq F_{q(\mathfrak{A})} q(z),$$

i.e.

$$\frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}} \prec_F q(z)$$

and  $q$  is "fuzzy best dominant".

**Proof.** Assume that

$$\mathcal{P}(z) = \frac{\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{z^{-\lambda}}. \tag{2.9}$$

It is clear that  $p \in \mathcal{H}[1,1]$ .

Differentiating both sides of (2.9) with respect to  $z$ , we have

$$\begin{aligned} \mathcal{P}(z) + \frac{\ell\alpha}{\ell(1+\beta(n-1))+d} z\mathcal{P}'(z) &= \frac{\ell\alpha\Gamma(1-\lambda)(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))''}{[\ell(1+\beta(n-1))+d]z^{-1-\lambda}} \\ &+ \frac{\Gamma(1-\lambda)[\ell(1+\alpha\lambda+\beta(n-1))+d](D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{[\ell(1+\beta(n-1))+d]z^{-\lambda}}. \end{aligned} \tag{2.10}$$

Using (1.3) and differentiating with respect to  $z$ , we obtain

$$(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z))' = \frac{\ell\alpha z (D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))''}{[\ell(1+\beta(n-1))+d]} + \frac{[\ell(1+\alpha\lambda+\beta(n-1))+d](D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z))'}{[\ell(1+\beta(n-1))+d]}.$$

So

$$\frac{\Gamma(1-\lambda) \left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z) \right)'}{z^{-\lambda}} = \frac{\ell\alpha\Gamma(1-\lambda) \left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z) \right)''}{[\ell(1+\beta(n-1)) + d]z^{-1-\lambda}} + \frac{\Gamma(1-\lambda)[\ell(1+\alpha\lambda + \beta(n-1)) + d] \left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z) \right)'}{[\ell(1+\beta(n-1)) + d]z^{-\lambda}}. \tag{2.11}$$

In the light of (2.10) and (2.11), (2.8) becomes

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})} \left[ \mathcal{P}(z) + \frac{\ell\alpha}{\ell(1+\beta(n-1)) + d} z\mathcal{P}'(z) \right] \leq F_{h(\mathfrak{A})} h(z).$$

Thus applying Lemma 1.2 with  $\nu = \frac{\ell\alpha}{\ell(1+\beta(n-1))+d}$ , we obtain

$$F_{\left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f \right)'(\mathfrak{A})} \left( \frac{\Gamma(1-\lambda) \left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z) \right)'}{z^{-\lambda}} \right) \leq F_{q(\mathfrak{A})} q(z),$$

i.e.

$$\frac{\Gamma(1-\lambda) \left( D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z) \right)'}{z^{-\lambda}} \prec_F q(z)$$

and  $q$  is fuzzy "best dominant".

**Theorem 2.4.** Suppose that  $q$  be a convex function in  $\mathfrak{A}$  such that  $q(0) = 1, h(z) = q(z) + zq'(z)$ . Let  $f \in \mathcal{A}$  and  $\left( \frac{z D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)} \right)'$  is holomorphic in  $\mathfrak{A}$ . If

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})} \left[ \left( \frac{z D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)} \right)' \right] \leq F_{h(\mathfrak{A})} h(z), \tag{2.12}$$

then

$$F_{\left( \frac{D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)} \right)(\mathfrak{A})} \left( \frac{D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)} \right) \leq F_{q(\mathfrak{A})} q(z),$$

i.e.

$$\frac{D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)} \prec_F q(z)$$

and  $q$  is "fuzzy best dominant".

**Proof.** Assume that

$$\mathcal{P}(z) = \frac{D_{\alpha,\beta,\ell,d}^{\lambda,k,m+1} f(z)}{D_{\alpha,\beta,\ell,d}^{\lambda,k,m} f(z)}. \tag{2.13}$$

Therefore, we note that  $\mathcal{P} \in \mathcal{H}[1,1]$ .

Differentiating both sides of (2.13) with respect to  $z$ , it yields



$$\mathcal{P}'(z) = \frac{\left(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z)\right)'}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)} - \mathcal{P}(z) \frac{\left(D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)\right)'}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)}.$$

Then

$$\begin{aligned} \mathcal{P}(z) + z\mathcal{P}'(z) &= \frac{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z) \left( z \left( D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z) \right)' + D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z) \right) - z D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z) \left( D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z) \right)'}{\left( D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z) \right)^2} \\ &= \left( \frac{z D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z)}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)} \right)'. \end{aligned} \tag{2.14}$$

Utilizing (2.14) in (2.12), we can get

$$F_{\psi(\mathbb{C}^2 \times \mathfrak{A})}[\mathcal{P}(z) + z\mathcal{P}'(z)] \leq F_{h(\mathfrak{A})} h(z).$$

Thus applying Lemma 1.2 with  $\nu = 1$ , we obtain

$$F_{\left( \frac{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f} \right) (\mathfrak{A})} \left( \frac{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z)}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)} \right) \leq F_{q(\mathfrak{A})} q(z),$$

i.e.

$$\frac{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m+1} f(z)}{D_z^\lambda I_{\alpha,\beta,\ell,d}^{k,m} f(z)} \prec_F q(z)$$

and  $q$  is fuzzy best dominant.

### References

[1] A. Haydar, On fuzzy differential subordination, *Mthematica Moravica*, 19(1)(2015), 123-129.

[2] N. Magesh, Differential sandwich results for certain subclasses of analytic functions, *Mathematical and Computer Modelling*, 54(1-2)(2011), 803-814.

[3] G. I. Oros and Gh. Oros, The notion of subordination in fuzzy set theory, *General Mathematics*, 19(4)(2011), 97-103.

[4] G. I. Oros and Gh. Oros, Fuzzy differential subordination, *Acta Universitatis Apulensis*, 30(2012), 55-64.

[5] G. I. Oros and Gh. Oros, Dominants and best dominants in fuzzy differential subordinations, *Stud. Univ. Babeş - Bolyai Math.*, 57(2)(2012), 239-248.

[6] A. Oshah and M Darus, Differential sandwich theorems with new generalized derivative operator, *Adv. Math. Sci. J.*, 3(2)(2014), 117-125.

[7] S. Ruscheweyh, New criteria for univalent functions, *Proc. Amer. Math. Soc.*, 49(1975), 109-115.

- 
- [8] H. M. Srivastava and S. Owa (Eds.), *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, (1992).
- [9] A. K. Wanas and A. H. Majeed, Fuzzy differential subordinations for prestarlike functions of complex order and some applications, *Far East J. Math. Sci.*, 102(8)(2017), 1777-1788.
- [10] A. K. Wanas and A. H. Majeed, Fuzzy differential subordination properties of analytic functions involving generalized differential operator, *Sci. Int. (Lahore)*, 30(2)(2018), 297-302.
- [11] L. A. Zadeh, Fuzzy sets, *Information and control*, 8(1965), 338-353.